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N & 0o & AF Y S N A
20159 & 20l& LB H HES ~ WES
2AN: NEsS
M 3o #E MO TQ(RYS)
el HHMHAZIH(WES) (cho &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
ngs 306, 156 301,416 4,740
F0l A BHO CTR2(WES) 256,310 257,690 A 1,380
HHAH AL (DEE) 256,310 257,690 A1,380
NESARAE Y 256,310 257,690 A 1,380
101 @121l 10,000 10,000 0
04 JI2ZtH2Z2XNEE S 10,000 10,000 0
OFANEHEHY 2 600,000& x1H x12& 7,200
O20l==2 8| o182 1,108,000 1,108
O XM H el 692,000 692
OE&E= 1,000,000 1,000
201 2ot Y| 53,430 52,830 600
01 At 22l ] 25,707 25,707 0
O2Bt=2t| 15,207
o FUSE ARE S 4,251,000& 4,251
oMNEEE S5 7€ 7,557,000& 7,557
o NESAMPEA 29 2,399,000& 2,399
o AL AIEEE 2HEE Y| 1,000, 000& 1,000
O=2&t| 3,500
oS8 g9FFXN 3,500,000& 3,500
[ DRINE=] 7,000
o224 U DATA Z2AXMH ZH|AX}
7,000,000& 7,000
02 3524t 20,723 20,123 600
OZ2Z22Z2Y4 A 17,531,000 17,531
OH =l 2,000,000& 2,000
OAl&E & H KXYl 1,192,000 1,192
03 S AFS H H 7,000 7,000 0
OLA2 A F& 2,000,000& 2,000
OsS0loy Al ZIIAH B4 3,000,000& 3,000
OXNEBBAHASH =& 2,000,000& 2,000
202 04| 3,920 3,900 20
01 2L Y| 3,920 3,900 20
ORNESAMNEAL 2Y 3,000,000& 3,000
OUES S RFA 920,000& 920
301 dEtE A= 177,960 176,960 1,000
0BCESH-0/& - -EtEEs8AZ 175,960 175,960 0
o)l 200,000 x52H x12& 124,800
O4NZ2 200,000 x52H x2 & 20,800
O3 &A5 40,0003 x52H x12& 24,960
OBt 50,000& =108 5,400
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